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Puzzle 1 (Medium, difficulty ratin

g

| N
mfo|<|vfw|ofo|=[—] ||| m|—|o|—|w|o|a]  B|<|m|~|o|o|cfjo|—[w]  Flo|m|wfo|—|<|o|f~
S =) o
w[—|o|o|o[~|o[t|a]  Slw|wo|o]t ||| —[m|~] Bo|—(w]m|o|—|o|t o] ¥ | —[~]o [y o]|m|w
B B

~[|ofo|—| t|o|o|o]  Slo|—[—|o|m|w]o|s|]  Slo|o|als|—|w]m|—|o]  Slo|c|ol—|w]| ol | <o
o 2 2]

o|w|nfof=[—|fo|m]  Holo|S|—|w|nl—|o|o]  Flm|ofs|of~|ofajo| =] Flo|s|ofw|—[—]|ofm
3 & =

o|mf—lo|sfofofal~l - Slaifwlofo|s oo Bla~| ool sjofm(of B (w|m|o| ||| ©
© S S

o |—|wo(ofaf—|o|o] o —|m|o|olafols] S|ofofol—|a|oj- o<t S| |olmfolofo| | <
o he ©
© (5] (]

qfo|mf—|o|o|~(w|st]  I]o|~[cjo[—|s|o|o(wv]  Sh-|o|olajw—lst(o|o]  Sm|o|—|S|o|w]o|~[o
N ™» <

<t|oo|w|~|fofjof—|o] o] —|o|wo]w|—|ols|N|m] o] |m|olw|N~] oo Sfevfoo|o]m|w|—
B B B

—|=|©o][|w]|m|o]  Flo|s|wlafo|m|aoi~—] Plo|cfo (<ol —(o|m]  Slo|ofa]—(m| | < ©]o




